BB E

ES

-

BREiRIE R
IR

Rt D BBIR B2 A& 18

DB R R

FEEBERFR

BENRERE
BEMR
SUEEGE

DB R R

BRES
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—TETF —FTTE—F —FTT-F —TT= —EENF
FHT T HT F#HT FHT THT
315,421 322,476 240,683 51,493 23,305
(187,701) (98,256) (54,494) (43,684) (17,054)
(1,635) (47) (190) — -
(189,336) (98,303) (54,684) (43,684) (17,054)
148 14,156 7,009 - 4,316
(189,188) (84,147) (47,675) (43,684) (12,738)
R=A=+—8
—TETF —FTTE—F —FTT-F —FTT=F  ZEENF
T AT T H#T T &L F &L T
687,848 445,889 506,441 503,438 469,230
(293,980 (80,624) (2,325) (5,270) (2,547)
(487) (31,465) - (37,7306) -
393,381 333,800 504,116 460,432 466,683




